Puissances de Dix (])

Trouvez chaque produit ou quotient.

43 x 1000 = 33 +0,001 =
67 X 10 = 92 x 0,001 =
26 +1= 33+100 =
9-+1000= 69 =100 =
54 X 0,001 = 94 x 10 =
16 - 0,1 = 31+0,01=
8x0,1= 39x0,1=
72 =10 = 86 X 1=
34 x 10 = 97 + 1000 =
94 x 10 = 73X 1=
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Puissances de Dix (J) Solutions

Trouvez chaque produit ou quotient.

43 x1000=43000 33 +0,001 =33000
67 X 10 =670 92 x 0,001 =0,092
26 +1=26 33+100=0,33
9+1000=0,009 69 +- 100 = 0,69

54 x 0,001 = 0,054 94 X 10 =940

16 +-0,1 =160 31+0,01=3100
8x01=0,8 39x0,1=39
72+-10=7,2 86 Xx1=286

34 x 10 = 340 97 +-1000=0,097
94 X 10 =940 73X1=73
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